
Addition de Cœurs Doux (B)
Quelle est la valeur de chaque cœur doux?

64 + b = 114 q + 79 = 119

44 + g = 89 p + 31 = 87

65 + f = 163 m + 91 = 151

52 + i = 70 r + 72 = 116

76 + d = 107 l + 97 = 173

10 + a = 70 n + 16 = 105

41 + h = 134 o + 68 = 126

96 + c = 116 s + 76 = 167

81 + j = 96 t + 77 = 162

75 + e = 124 k + 24 = 101
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Addition de Cœurs Doux (B) Réponses
Quelle est la valeur de chaque cœur doux?

64 + 50 = 114 40 + 79 = 119

44 + 45 = 89 56 + 31 = 87

65 + 98 = 163 60 + 91 = 151

52 + 18 = 70 44 + 72 = 116

76 + 31 = 107 76 + 97 = 173

10 + 60 = 70 89 + 16 = 105

41 + 93 = 134 58 + 68 = 126

96 + 20 = 116 91 + 76 = 167

81 + 15 = 96 85 + 77 = 162

75 + 49 = 124 77 + 24 = 101
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